%47No. SF700-00

OREC

«(H K BREIVYILTLREEL
g/r Jv% ................................................ 1
ﬂ\$ﬂ3% ................................................... 2
~ L }\% ................................................ 3
INYS ];‘ﬂ/%zlg ............................................. 5
FJ 2R 7
BEJE% ................................................... 9
- I/_A% ............................................. 11
NV \/imz .......................................... 12
7/\\‘/1/% ................................................ 17



HEEBOZFERICDONT

1. EPEREDIERKIC DT

COEPERR( =Y U R M)(E 73 E BB SIBRM SNTLE T,

2. BPmFDREIFICDONT

BFFEOHBERZHANDLE, ZETIEAODEHORE UESICELD T, BELERODEmRES.
@i, —ashlhOESREZ. BmBlRNSHERANITZE 0N,

3. EBndDIBRRDIRTR

REUBESZEEHDIHETCRRUTHBDET,
(f51)
36~42 |F914vtwvhk (12%x5. 50-6)
36 A1t (12%x5. 50-6)
37 A7)\ F>
38 R (12x5, 50-6)
39 IRAILIRA
40 NARNLEM8x16
41 NARILEM8%x20
42 NAEFYH (SW) M8

4. B@mEBES(CDLT

HRES (L ROBCR> TOET,
Y (e — K- (31— F)
Wb S 0000-00000
ams | (EmI— ) - @EI—F)
00-0000-000-00
EEEGZ (89 -0000-000000
EEERG |83 -0000-000000

5. BBE@EXICDLT
B@mE. £ TCTIACE1I -9 —TEEIN VDR, TEXORSHEL. BaEsS. nk. HE%.
S (CEPmES(FRMEC, TRALESL.

6. BRGEEEMM{ELN R EBamDERFE BT
D*‘/)F';EH‘?‘“BDEI KOSEFER(T. RNILE, Fv hFR)DTEXE, RBIRLKEEHTHBEOUET,

7. [@EHMCOVWT OS> R-BHI>SSOERR)
REHEDOTIL I 7Ry NMITFERDEAERUTULET,

OR A—LvoISUK M IVELT /Aﬂ%
IA ISEKIZ7 TSR K AT XTI ER
YB PEVRITSUR R I:It/I‘/ oAt

C JIRALT DA




AR

1/17

2 4V EB

11 [89-2131-100002 REY 10 2
10 [89-1750-100002 INKEE 010 g
9 |89-1543-080002 INBYFREFVR(SW) M8 8
8 [89-1511-100042 "AFTYE MI10 8
7 [89-1111-100202 FNERILE M10X20 8
6 |89-1211-080162 INBUFRARILE M8X16 8
5 [83-1260-154-00 EEEES 9 X 45 2
4 [80-1711-407-00 =AM J)Ltvyk 4.00-7 2
3 [80-1711-404-00 400-7 BAN¥Fa1—7 2
2  [80-1711-401-00 4.00-7 BAY 2
1 80-1260-413-01 RAILIRACMP H 2
TS B & #F B B & A = fim =




AR

217 mass

XMEHFBRYNTIHFE T HAEAN—-EIFO—2)—ZERY 5L TS,

11 [89-2191-080452 HEEE 8 X 45 2
10  [89-2131-080002 REY 8 2
9 |89-1750-100002 INREE 10 12
8 [89-1611-100042 INBYRAF YR MI10 12
7 [85-1321-836-00 AIRAIERILF VP Z) M0 x 22 12
6 |0031-51203 +4ATA/MER CMP_ JL— 1
5 [0031-51103 +AUANEL CMP_ S L— 1
4  |80-1310-827-00 RST2M(R) 2
3 [80-1310-826-00 RS F2M (L) 2
2  [80-1310-822-00 + %L (AR50R) 4
1 [80-1310-821-00 +% T (AR50L.) 4
&= B & F B B & A EES g =




AR

SN L rER 172

HE
Ed
|—|—|N|—|—|—|—|—|—|N|—
i)
od
o

w|X A
WMM __J og

of , [ZS]  |+R
o8l |21%12[818] 1 [T T] Ll
%) < DZ& =
X[ X O J| =[N 2|=
blv|el \\Jn_ll_?__ T |
ol X&.RT.:CM > 07
e e INESINE
_.m_.m‘ '\\/“l\lsjln\/s_u_u—
| SRR 2N S
H | EH S| S| H < [ H i
illy

olola|afa|a| o olo
Bi==1 =1k —| S|
Sl t=k={{=1t=1=} BN
l={l=t=1k={l=1t=1=} ~|—
0|50l o|o|o|o|o|o|o|—|~
== =1t=1=I=1t=1I=1t=1k=]1 7] [X=) e
T T|T|(T|T|olo|N| 1| 1|0
N =i=1G b N =1 t=1k=1[=][=)
BB |B|—|~|F|~[F| | S| —=|©
||~~~ Oo|n~—] | | | || N
AN|N|—|—]|—|—]|—|—|—|—]|—| — |5
i [er|enfenf |1 [HE
olo|o|o|o|o|o|o|o|o|o|o
co[c0| 0| co| 0| 0| 0| S| O| S| 0|0
W_“Hm987654321=__.._




AR

YT gLt 2/2

14 [89-2521-000100 ERLIEOHE 10 1
13 [89-1713-080002 EEES 8X22X1.6 1
12 |89-1713-060002 EEEL 6X18X1.6 2
11 |89-1561-080002 INYUF YR M8 1
10 |89-1253-080702 BRSNS <A AR ILR(8T) M8X70 1
9 [89-1232-080202 INFZFSEAR )L R(SW) M8X20 1
8 [89-1113-060302 7 ARJLNET) M6X30 2
7 |0031-41101 N)LhH/A—A2CMP_ B 1
6 [0031-40501 NILMEZ B 1
5 |0031-40400 NJLMAN—A VBT HS— 2
4 |0031-40301 T30 F7—LCMP H 1
3 |80-1260-552-00 T avRELAR 1
2 |80-1260-535-00 Tia g 1
1 |80-1260-501-B0 AR—H— H 1
EE B & F B B & A =R fi& =




AR

5/117

N> FILER

1/2

14 |89-1711-080002 ERES 8X 16X 1.2 ZOA—hk 1
13 [89-1543-080002 INBYFREFV(SW) M8 1
12 [89-1213-080402 INBYZRFAR)LIBT) M8X40 1
11 [83-1515-177-00 TJviatvb 6 1
10 [83-1260-951-00 Z2OykLD A — 1
9 [83-1260-931-10 FHOSYFIANV— 1
8 [83-1260-461-00 Z0O0vk)LL/A—(¢ 25) 1
7  |83-1260-423-00 EYI L 1
6 [0031-10803 F2av5L/IN\—CMP 5L — 1
5 [0031-10700 Fo2avy5LN—RL/\$ 1
4 |0025-70200 T899 74— 1
3 [80-1515-262-00 T—AL)yT (B) 1
2 |80-1260-234-10 T 20y /\—hF5— 1
1 80-1020—270-00 FTFIoOLN—AF—HT— 1
= B & F B B & A =R g =




AR

6/1 | \o ks 2/2

13 [89-1750-120002 NREE P12 1
12 |89-1711-120002 TRES 12X22X2.3 1
11 [89-1631-080042 B INERAEFTYE M8 1
10  [89-1113-121502 FNAEMRILRET) M12X150 1
9 [83-1260-423-00 EYT L 2
8 [83-1020-177-00 TJvatvyk 8 2
7 |0031-70400 BfE/\K)L M12 X 155 1
6 |0031-10101 N\RJLCMP B 1
5 |0023-10603 4259FLIN—CMP S L— 1
4 |0016-72500 E/GRMYTRAYTF 1
3 |0016-10300 EIL 151 3
2 |80-1260-288-20 E/GRRYT DAY —/\—H%R 1
1 [80-1260-225-00 JJLF—RFa2—T10 x 220L 1
EE B & F B B & A EE fi& =




F/3—ER

89-2181-100352

EFEEY 10X 35 (vh) (YAA—k)

89-2181-060222

FEEEY 6x22 (NA) (ZO*—bH)

89-2131-100002

REY 10

89-2131-080002

RE> 8

89-1714-100002

FEE 10X22X1.6

89-1713-100002

FES 11X25X2.3

89-1611-080042

INRRAFvE M8

89-1581-060042

EEffSF ok Mo

89-1561-100002

NEIUF YR M10

83-1260-423-00 EYIL

83-1210-487-00 H1E/\K)LM12 X 30
0023-60100 EInEI Y/ \—
80-1260-786-03 Zo9IN—HZ JL—
80-1260-781-00 X 2I25vy/8— A
80-1260-746-00 EHEELAR
80-1260-745-00 Y3 LET M8 X 56L

80-1260-743-13

HERE/ N N—CMP_FL—

80-1260-734-03

BEEHO—%')—CMP S L—

—_—l_m === == ===
_LNw.hmm\lmtoo_LNw-hmm\‘mo

80-1020-263-00

o kA—)LL/N—BRT) T

0

i

\

B s &

B & B

AR

—_— = = e et |t el el IND N[N N [ | = | = = | —

&
v



AR

AN—EB 2/2

89-1713-080002

SEEES 8X22X1.6

89-1711-080002

EREE 8x16X% 1.2 FOA—k

>

89-1581-060042

Eff ST vk M6

—_
N

89-1543-080002

INBY KA FRSW) M8

89-1433-080162

NAIUTRAE AR ILEMS X 16

89-1390-080252

AHEERILE M8X25

89-1390-060142

89-1232-080142

RERILN M6X14(4H0A—F)
INEE AR ILE(SW) M8X14

89-1137-060152

NARILNPW) M6X15 77 vk

0031-60213 O—41)—Hh/N\—4#58 (B YL —
0031-60111 O—41)—h/A\— B OR
0031-60112 O—A2)—Hh/N\— YB

80-1260-782-10

X I75v/\— B

80-1260-762-02

B AEH/3—(R)CMP_ 7

80-1260-761-02

HARH/N\—(L)CMP 7

=N ||| o cn\loocoa‘:,:;a;a

80-1260-736-03

O—41)—h/\—4#58 JL—

0

i

\

B s &

B & B

&g =




AR

T \g55588 1/2

9  [89-1750-100002 NREE $10 1
8 [89-1714-100002 ERES 10X22X1.6 1
7  [89-1631-080042 BN RAEFTYE M8 2
6 [89-1611-100042 INBYRE SV MI10 1
5 [89-1253-081353 BN RARILNET) M8X135(a=4-0)| 2
4 |89-1213-101402 INBUFRAR)ILR(BT) M10X140 1
3 [89-1137-060122 FNAERILNPW) M6X12 77tk 4
2 |0031-10410 EEHARH/N— 1
1 [0031-10201 N\VRILVBRfFCMP B 1
= B & F B B & A = g =




FAEN

10/17 TEE 2/9

\ s‘. i
ey
O <Rl
oSSR
i’7*\4‘l‘fv""‘m ,
l\.'ﬁl./ SIA N~
« JUNCNS:

~a)E |

14 [89-2521-000100 ERLIEOHE 10 1
13 [89-2120-300252 | 3X25 1
12 |89-1713-060002 TEEL 6X18X1.6 1
11 [89-1253-081303 EE{H/MEZFRAARILRET)MEX130(a=50) 1
10  [|83-1754-329-00 TERES 13X22X1.0 1
9 [83-1711-426-00 L/x—iEY 12 1
8 [83-1515-112-00 FNEARILRSW 8T Av42)M6X14 1
7  [83-1493-198-00 UFvk M6(Av4) 1
6 [0052-10303 2L /IN—F—LCMP FL— 1
5 [0052-10203 Z55& L /\—CMP SF700 'L — 1
4 |0052-10101 2 H A KCMP SF700 H 1
3 [0052-00700 O—4)—JREY 1
2 [80-1260-535-00 Tia g 1
1 80-1260-266-03 ZEREL/N—RACMP 4 L— 1
= B & F B B & A =R & =




AR

11/117

7 L— L

18 I oy 1
17 [89-2181-060307 FEEEE Y 6X30 (FeFE) (VOA—R) 2
16  [89-1713-080002 EREEL 8X22X1.6 6
15 [89-1543-100002 INEIFR SR (SW) M10 4
14 [89-1543-080002 INBYFREFY(SW) M8 6
13 [89-1253-080352 EE Nz < AR JLR(8T) M8X35 2
12 [89-1213-101352 INBIRAARILRBT) M10X135 2
11 [89-1213-100402 INBY R AR )LR(ET) M10X40 2
10 [89-1213-080402 INBYZRFAR)LIBT) M8X40 4
9 [83-1515-177-00 TJviatyb 6 2
8 [83-1020-148-00 NEAYTEAE M6X14 1
7 [0031-70800 NEXYT RS M8X14 1
6 |0031-60502 HERYIACMP 7 1
5 |0031-21103 IVOUR—R JL— 1
4 [0031-20210 INSGURAH T AR 1
3 [0031-10900 T2099F7—L 1
2 |0023-00200 TI28v9T7—LEZ 1
1 [80-1515-186-00 J4Y¥—#x 1
&= B & F B BB & = g =




AR

12/11

Sy i 1/5

17 [89-5121-153007 #A4JL—)L UE 15.30.07 1
16  [89-5121-122207 A 4L —)L UE 12.22.07 3
15 |89-1543-080002 INBUFRA SR (SW) M8 2
14 [89-1253-080352 EEfHIMEZ AR ILR(8T) M8X35 2
13 [89-1251-080123 FEfHINEE N FAARILE MBX12 (A=40) 1
12 [89-1113-060282 FNERILNEBT) M6X28 2
11 [83-1712-194-00 A—3FJ)LFVE M6 2
10 [83-1515-148-00 NAZYTEAE M6X22 17
9 [83-1415-348-00 gi/\vE> 8 1
8 |0031-70200 A4ILEe 26 1
7 [0031-70100 ZA4JL—)L MUD 30X 52 X 11 2
6 [0031-02102 KT h— 5 1
5 [0031-01902 & H/\—(R)CMP 7% 1
4 [0031-01802 REH/N—(L)CMP_Fk 1
3 [0031-00100 Sviavh—AL 1
2 [0021-71700 A4 )L —)L MUD 20X35X10 2
1 [0016-01100 EE i 2
&= B & F 5 B & £ = g =




AR

13/117

Sy g i 2/5

12 [89-3111-062044 7YY 6204 1
11 [89-3111-062014 7Y 4 6201 3
10 [89-3111-060064 7Y% 6006 1
9 |89-3111-060044 NF724 6004 1
8 [83-1310-371-00 A5 ATy r— 20X30X1.0 1
7 [83-1017-365-10 ASART Yy r— 17X23X1.0 4
6 |0052-00400 3&EH20T-50TF?CMP 1
5 [0052-00300 3EN36T-26T-13TFVYCMP 1
4 |0052-00200 2EH20T-50T-26 TS "CMP 1
3 [0052-00100 28150T-36 TF VY CMP 1
2 [0031-02300 BHS— L7 2
1 [0016-00100 Bl & 1
= B & F B B & A = g =




AR

14/117

Sy i 3/5

89-6513-520060

F—2 #520-60L

89-6513-420042

FI—> #420-42L

89-3111-060064

71245 6006

16 1
15 1
14 1
13 [89-1750-080002 INTREE ¢8 4
12 [0031-03400 H5— L25 1
11 [0031-03200 3EH9 T SP-48 T "CMP 1
10 |0031-02300 BHS— L7 1
9 [0031-01500 O0—#4!)—&iCMP 1
8 [0031-01100 F4T79T SP-50TF -+ CMP 1
7 [0023-72300 INBYFS AR )L RMBX28(8T Av47) 4
6 [80-1260-156-00 T 209995 yF A 1
5 [80-1260-155-10 TIEZA¥Tk 1
4  [80-1260-154-00 HER30TR 7O,y k 1
3 [80-1260-153-00 E-#A210T 2
2 [80-1260-152-00 TI2XT714T 2
1 [80-1260-151-00 TI25—X 1

&= B & & B & A ;




AR

vy g g 4/5

-~

15/17) =,

HE
- - ,.ll.ll.ll.lmnﬂ
|||y ]
bl
&
o
> -
Oof [N |P=
=
B ._A..7p
< | .7 -._/o\.EB_H
SEERNERE
©o|o|lo N :JElnv_m
L L RE (D1
WARG| 1D DD
yszy._u._mvﬁvv
DD n-r_._u.mm_u_u
I D e e I e I
< < [ & BRIk
iy
<|<r|<|o olo
< | —|<|D OOm@
olo|o|lN T[T
N Et=1t=) oo~
olo|o|o|o|o|o||—
o|o|o|o|o|o|o|—|—]|-a
1T T|T|O|®|N] 1|1 |0
—|—|—|—|O|O|O|O|O
===l T| 1| T|N|N
DN~ M| O] +—|—|52
L T (e = 1 | 1 [HE
o|lo|o|lo|o|o|ololo
0| 0| Dd|0|S|S| S| 0|
987654321=_H_




AR

16/17

Sy g i 5/5

89-3410-080000

ks

89-3111-062024

X725 6202

83-1020-148-00

INEAYTEAE M6X14

12 2
11 1
10 2
9 |0052-00600 O—41)—3 k24 —28HCMP 1
8 |0052-00500 EITL IR+ —DECMP 1
7 |0031-03100 18113TE—42)—> 7R (Jh%) 1
6 [0031-02200 A—3) =24+ —08h5— 1
5 [0031-01700 JYFRTYH 1
4 |0031-00700 ITBNTETIIREY 1
3 |0031-00500 3 B 1
2 |0031-00200 Svyiavsr—AR 1
1 80-1260—161-00 ORI Z 1
EE B & F B B & A = fi& =




AR

LALERIT%

0052-71200

A ‘
L@J FIUIVFINI
g

IVOURAYFINIL
0052-71300

. c{RIEIc{
A
?
=)
() .
W ORECOI<Y—%4B11
2 0052-70200
v
19)]
TIAYVIINIL
0052_71 100 AT X
B | SA32 (W400)
FiLiEaR
Swyay | #90 3.00
ORECOI<—%4C09 NIV AZXSR)L
0052-70300 0052-70700

(AL HAN—RBIZBE)

°I7HY—F YA LRI — 5 —
BEFYLLWES CRICHIBTS = h;
SBEFULLEZDERIE. TS

T MHA~OIKKEOBNBY q N 0“@“9)
0328-75400

IT77)—F—ATEEINIL RSN
0328-75400 0052-70600

HOATNIL
0052-70500

P

PICO

SE700

K< —~2(SF700)
0052-70400

MAEALE. BRER

o—4—-0BEESRE

o o pmets || T (5B |
IIII o RE c :g_:?ij [ERRY @, ﬁﬂ;ﬁ‘;_:?lﬁ‘ﬁsizn BB R
R 5 #90 3.0¢ | fonnmaiiitgy _—-ﬁ\[‘ [omoREn KRS0
ORECAO~VY—%C08 - - i
0052-70100 HE30TNIL SN LSF

0052-70800 0052-71400






